M H:\,/ One-step inequalities

6x1- 6 2%

Solve each inequality.

) 41+m>-212

&l 1 1 1 1 1 1 1 L

S T T T T T T T 7
-29 -28 -27 -26 -25 -24 -23 -22 -21

3) 227 -x<-14

&l 1 1 1 1 1 1 1 N
ST T T T T T T T T 7
-25 -24 -23 -22 -21 -20 -19 -18 -17

5) b+(=20.7) >-30.11

-13 -12 -11 -10 9 8 -7 6 -5

7) —16.4—n>-3.9

&l i i 1 i i 1 i i [

<t T T T T T T T T 7
-17 -16 -15 -14 -13 -12 -11 -10 -9 -8

9) 5.5>-14.1+5

4 15 16 17 18 19 20 21 22 23

11) x+(-23.57)>0.53

13) -7.8+%k<20.5

&l L 1 1 L 1 1 L 1 L
L)

ST T T T T T T T T 7
23 24 25 26 27 28 29 30 31 32

2) -03>64-p

4) —-122<n+84

-24 -23 -22 -21 -20 -19 -18 -17 -16

6) 127 -x<-28

10 11 12 13 14 15 16 17 18 19

8) 35<—184+r

&l i i 1 i i 1 i i [

< T T T T T T T T 7
-21 -20 -19 -18 -17 -16 -15 -14 -13 -12

10) 6.7 >—6.7+v

pa
~

'l L 1 1 1 L L
L] L L] L) L] L) 7z

10 11 12 13 14 15 16

O -

You may use this math worksheet as long as you help someone learn math. -> MATHX.NET <-

-1-
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Solve each inequality.

1) 41+m>-21.2
Ol

ST T T T
-29 -28 -27 -26 -25 -24 -23 -22 -21

3) 227 -x<-14

“—t—t++—+
-25 -24 -23 -22 -21 -20 -19 -18 -17

>

5) b+(=20.7) >-30.11
“—H—+—+—+

ST T T T v
-13 -12 -11 -10 9 8 -7 6 -5

7) =164 —-n>-39

-17 -16 -15 -14 -13 -12 -11 -10 -9 -8

9) 5.5>2-14.1+b
e ———1—>

4 15 16 17 18 19 20 21 22 23

11) x+(-23.57)>0.53

20 21 22 23 24 25 26

13) —7.8 + £ <20.5
( ¥

23 24 25 2 27 28 29 30 31 32

You may use this math worksheet as long as you help someone learn math. -> MATHX.NET <-

2) -03>64-p

pa
~

:IIII
2 3 4 5 6 1 8 9 10

4) —-122<n+84

>

24 23 22 21 20 -19 -18 -17 -16

6) 12.7-x<-28
“—“H——+—+—++ I o

10 11 12 13 14 15 16 17 18 19

8) -35<—184+r

-21 -20 -19 -18 -17 -16 -15 -14 -13 -12

10) 6.7>-6.7+v
C——t——————>

9 10 11 12 13 14 15 16

12) -18.1 >x—-18.9
L

<4 3 -2 -1 0 1 2 3 4

14) -25.1<a—-21.3
& } L i i . 2 2 2 . :’

S 1 LI
| -7 6 5 4 3 2 -1 0 1

-1-



15) -3.5-n<22.623
H—t—t—— >

L a »
L} L] L] L] L L
-30 -29 -28 -27 -26 -25 -24 -23

17) 23.5<232+p

3 -2 -1 0 1 2 3 4

-5 4

19) 9.9>29.5 + x

‘ . PR 1 L i i
¥ ¥ T T T T T
21 -20 -19 -18 -17 -6 -I5

21) n+24.84<4.84

sy —
-25 -24 -23 -22 -21 20 -19 -18

v

23) -6.9 < x +(-24)

25) n+7<-39
e NI T

-12 -11

v

27) x-113<12.16

‘1'8 19 20 21 2 23 24 25 2%

29) 822> x+(-17.7)

L >
2 23 24 25 26 27 28 29 30

16) x+(-5.9)<-33.6

18) —1.6+7>6.8

24) v-263<-412

AN
LK

fi)—1 1 t t 1
-16 -15 -14 -13 -12 -11 -10 -9

26) 0.8 <a+(-22)

20 21 22 23 24 25 26

19

28) 9-k>15.8
‘-:9 L A R -:1>

30) n+133>11.2

You may use this math worksheet as long as you help someone learn math. -> MATHX.NET <-

-2-





